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1. Answer as directed : | 1x7=7
| (a) Whiéh one of the follbwing is havir'l'g»
~ highest osmotic pressure ? ‘

© ) Xerophytes
(i) Halophytes
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1. Answer as directed : 1x7=7

(@) Which one of the following is having
highest osmotic pressure ?

(i) Xerophytes

(ii) Halophytes




L aad L. N -, ., . ! . o .
(iii) 1thophytes (e) Due to deficiency of which element the
. (i) Mesophytes | | : | . grey speck disease of oats occur ?
_ (Choose the correct optzon) T ' o
' , . Auxin-B was first isolated by
(b) ‘Swelhng of wooden doors during ramy o (ﬂ S vas 1 > S
- season is due to | . . i) vabuta and Sumil .
0 endosmos1s ’ ' L 3 | | o '

(ii) -nnb1bmon- (i) Miller and Skoog -

() capillarity " (i) Kogl and Thimann =

’ (iv) deplasmolyms o S ) - .

- - (Choose the correct optlon) ~ ] _  (iv) Kogl, Erxleben and Haagen-Smit
(c) The émount of soil ‘water avmlable to , S " (Choose the correct option)

'plantabsorptlon is called L o ’ ‘ L B
| _  (Fill zn the blank) . (g) Flowering induced by cold treatment is
: (d)A Which of the foliowmg statements is. 7 knownas
: wrong? . SR

. ) 'ei'nal.iZé.tion
'.('l), _ Guttation takes place at nlght -,(l) , Ve

(i) Guttation takes place through - | . (i) photoperiodism
. hydathodes. - ‘ , o
- (ili) Guttation is a ‘regulated‘ (iii) scenescence,

mechanism. - o o o ‘b"l | : SRR o
o ' ' . +iv) cryobiolo ' ‘
- (w) Guttatlon takes, pla;ce 1n grasses : ) cry &

(Choose the correct optlon) .‘ S ' . | (Choose the cOrreot option)
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Write brie_ﬂy'o‘n the following : © 2x4=8

(@) -Osmotic : theories of active absorption

of Watei' 3

(b) -Defic1ency symptoms due to lack of '

molybdenum
(c Ethylene -on fruit ripening

(d) Apoplast..

. . Write briefly on the following :- (any three)
| | | 5x3=15

' (a) Method of ’br_e‘a\'kmg of s_éed dormancy

‘(b) Role of phytochrome plgment in

photomorphogenesm

(d Cohesion-tensmn thediy of .ascent of

sap

3 (Sem-5/CBCS) BOTHC 2/G ~ 4

-

(d) Cntena for essentlahty of rmneral'

L elements

[

~ (e) "Brassihostero.i_ds.

4. Answer the following questions - 1(_)><3=30

(a) Describe the theory of proton-transport
“and hormonal regulaﬁon on opening -

- and ‘qlosiﬁgf of stoméfa; Describe the -
role of aﬁtifrarispirants.' C 7+33_=10 |
. ‘Who .proposed the term ‘photo-
 periodism’ ? What do you mean by long-
- day and .'short-day plants ? Write a

" descriptive note on florigen concept.

1+(2+2)+5=10
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(b How are mineral salts  available for

plant absorptlon -?Describe the

cytochrome pump hypothes1s (Wlth ‘

dlagram) for rmneral salt absorptlon

. What are the maJor dements in. the

(o

theory ? . - 3+5+2=10

Or

N

What are the expenmental ev1dences‘ o
you suggest in support of the fact that
the translocatlon of- sugar takes place ..

through phloem tissue. Explain -the

Munch hypothesis w1th d1agram

3+7—10 '

“Describe the physiological role of auxin

and gibberellins. - 545=10
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Name two naturally occuring :

cytokinlns. Describe the role of
cytokinin _ on  cell  division,’

morphogenes1s, retentlon of chlorcsphyll

. Ap1gments and nuc1e1c a01d metabohsm
v T 2+8-10_

L
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